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Paper *2¢ Time | 2 hours 30 minutes

It is known that the price of a particular car model depreciates with time so that its
value, $P, after ¢ years of use is given by P = ke ™, where k and n are constants.
A man buys a new car of this model at $80 800. The value of the car is expected to be
$29 700 after 4 years use.

(i) Calculate the \value, to the nearest $100, of the car after 7 years use.

The car will be scrapped when its value reaches 10% of its original value.

(ii) Calculate the length of time, to the nearest month, the man can use his car before

it is scrapped.

. .. €08 x—cos 3x + sin 3x —sin x
Prove the identity : —— =tanx.
Cos x + cos 3x + sin 3x + sin x

Find the non-zero value of # if the coefficient of x* in the expansion of (% + 4x](1 - 2x)"
isn.

The gradient function of a curve is given by % =4 — 2x. The normal to the curve at
x =1 cuts the y-axis at % Find
(i) the equation of the normal,

(ii) the equation of the curve.

The diagram shows part of the graph of y = 2(x — 2)?. A horizontal line y = 24 cuts
the curve at two points 4 and B respectively. AD and BC are lines perpendicular to

the x-axis.

4 y=2(x-2)
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